This quesiion Paper contain
All questions

One question carries half mark only.
Maximum Marks : 85
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1. Which of the following river rises near Mansarovar lake ?
(A) Ganga (B)_ Yamuna (C) Indus -{I}} Godavari
_ & 9T 390 | N H 78 H U e 2 0
(A) T (B) (C) fHy (D) Tierad

2. Asper census 2011, the decadal (2001-2011) population growth of India is
SATOHET 201 1 % AT, WA 1 E0hrd (2001-2011) SHEE g 2
(A) 17.69% (B) 23.64% (C) 12.94% (D) 13.89%
3. At present total number of States and Union Territories in India is
TAHE ¥ qRe o Tl 3R gHy 851 1 Fe e @
(A) 35 (B) 36 (Cy 37 (D) 38
4.  The ‘Jana-Gana-Mana’ was adopted as the National Anthem of India on
EA% January 24, 1950 B) January 25, 1950
C) January 26, 1950 (D) None of these
‘FA-TV-H9' 9TEA % TFTH = d1 T fema T ﬁ
(A) et 24, 1950 (B) et 25, 1950
(C) st 26, 1950 (D) ¥ | HI3 TEf
5. 1 Chaitra normally falls on which date of the Gregorian calendar ?
I(ﬁ'ﬂ‘izﬁm Foive 5 woT=raE 1 99 fRw fed o 2 2
(A) " 22 (B) ¥@22  (C) W22 (D) A 22
6.  Which is the ex-officio chairman of the Rajya Sabha ?
A) President (B) Vice-President
&3% Prime Minister | (D) Leader of Opposition
TG 1 T T i BT R 7 i
(A) TEaf (B) IIAd  (C) wuEHAt (D) fmer @I
7 Which of the following is not an All India Service ?
A) IAS Eﬂg 2 T
{C IRS _ i D) Indian Forest Service
J e T e g EE T8 7
(A) IAS i
(©) TRS Ll b e
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. following 1s highest in order of precedence ?

hic -E;'Miﬂlﬁwr (B) Chief Justice of High Court
E:; g ;Ii;aker of LDI%{ Sabha (D). Govemor

) FOHI=AH & 7
<4 & # I |
. : {B.] I T T & iy
(C) A W T R )

9 Rashu‘nﬂ Krishi Vikas Yojana was launched in which year ?
" i i farehTa AT ) YRS R o ) e 2
(A) 2007-08  (B) 2009-10  (C) 2011-12 (D) 2013-14

10. Vienna is located in which country ?
(A) Austria (B) Germany (C) Italy (D) France
frrm fra e g @ e ?
(A) 31"%31 (B) FHAT (C) Tzelt (D) %

11. The share of which sector is highest in Indian economy ?
(A) Primary sector (B) Secondary sector
(C) Tertiary sector (D) Quaternary sector

Tt arefe 1 form & = fewmn stfUsem /a1 2 2
(A) yafim e (B) fadwsds () gdus & (D) Tqds &3

12. WAN stands for

(A) World Area Network (B) Wide Area Network
(C) World Asia Network (D) None of these
WAN =1 901 919 2 |
(A) g Ui 2= (B) TTEE TfET 4T
(C) =2 ¥ eadh (D) ¥ & % TE
13. BSNL was formed in which year ?
BSNL forg ad & =71 2
(A) 1995 (B) 1996 (C) 1998 (D) 2000

14. Which of the following is not a member of ‘ASEAN’ ?
(A) India (B) SriLanka (C) Bhutan (D) All of th
forerfefan @ ‘s (ASEAN) %1 9ee 781 2 A
(A) WG (B) fteteht (C) Yer (D) & usft

15. The Headquarters of SAARC is at
(A) NewDelhi (B) Colombo  (C) Kathmandu (D) Thimpu
H% (SAARC) %1 qgETed ferm 8
(A) Wit  (B) ®wm (C) Ferg (D) Ry
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16. Which State :
(A) Na ate jg no 4 part of SR L
‘Nagalang (B) % Sltah:aculied seven Sister .
mmﬂﬁm Manipur (C) Trnpura (D) Bihar
(A) AMSve T Fram g 27
{B} Wﬁ"l'(r{ (C) ETT»_’ (L) ﬁ%ﬂ
17. 1II""'l’rl'lll.'_‘]'j IS [h'E hl b I =
(A) Genera| SA8St rank in the Indian Navy ?
(C) Com (B) Admiral
W:ﬁﬁmﬂdgrgﬁaqﬁ% (D)~ Air Chief Marshal
& (B) usfips (C) HHTEN (D) It i Areie
18. ‘ i
mm:ﬁh%%kgsh (C) Nirbhay (D) Agni
: ?
(A) (B) ¥m=m (C) i (D) ¥
19.  NITI Aayog is a/an
(A) Constitutional Body (B) Statutory Body
E%-]Executge Body (D) None of these
1 AR 2 U
(A) "fgar fwm (B) aurfer Frepma Eﬁ
(C) =T frem (D) 78 & g A&
20. U.S.A. Has how many states ?
USA dfparmsaz?
(A) 30 (B) 40 pE) 50 (D) 60
21. Who is the guardian of public purse in India ?
(A) CAG (B) NITI Aayog
(C) Finance C:E-lfgissiqn i (D) Attorney General
TA H AT 19 I FEH ?
(A) CAG (B) NITI3@W (C) Fmamm (D) s w7
22. Polio is caused by a :
A) Virus ﬁﬁ[ﬂ ?Bﬂﬂtﬂﬂﬂ (C) Fungus (D) Protozoa
ferereh a1l |
(A) Tasmd (B) MY (C) == (D) Wi
23.  Which is a non-metallic minerlal 7
(A) Gypsum _ (B) B%agmte (C) Chromite (D) Copper
Fr |1 T AT G 6
(A) Forem B) W (C) #M® (D) ®IW
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24.

26.

27.

28.

29,

30.

Which high court has jurisdiction over Andaman and Nicobar Islands ?
L =

(A) Madras (B) Kerala (C) Guwahati (D) Calcutta
mmﬁﬁaﬂmmmﬁwwaﬁrﬁﬁm%?
(A) HgE (B) & (C) TEmEr (D) Hersa

Which software is used for making resume ?

(A) MS-Word (B) PageMaker

(C) Both(A) and (B) (D) Java

from &= & fore form Siede o1 3ugm foean s 2 2

(A) WTHEE  (B) Y9HE (C) (A)ya(B)Z (D) FmE

In MS-Word, which option is used to use a paragraph at another place
without removing it from the first place ?

wH UH-HE H U AT W UEe W § fa g gt e W R siiem #
T " 399 feRa ST R 2
(A) Rotate (B) Copy-paste (C) Delete (D) Move

In M5-Word, if you need to hide some text, how can you do it ?
(A) From paragraph dialog box (B) From font dialog box

(C) From options dialog box (D) None of these

UH Ug-9E H, Af¢ T 2R U o sravasa 2, 9t o 3 s a1 0
(A) ST SH T9E o (B) Wi BT aied o

(C) = Srwm i ¥ (D) 374 ¥ %1 T

Which option is not available in insert table Autofit behaviour in MS-Word ?
TH TH-TE | 3L ¢Ae HT2Ihe SATER A B HY AT 39eey 78 2 2

(A) Fixed column width (B) Autofit to contents

(C) Autofit to Window (D) Autofit to column

In MS-Word Ctrl + 1 is used to
g wH-8 8 Ctrl + | %7 W07 81 2

(A) Double-space lines (B) Single-space lines

(C) Change text to heading | (D) None of these / 398 | %18 T
In MS-Word, pressing F8 key for three times selects

(A) aword (B) a sentence

(C) a paragraph (D) entire document

T TH-aE § F8 I HI fi AT 5w fohu T weiee A &
(A) WHAKH  (B) WHARF (C) UH W% (D) Gt i

e i ————
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31.

32,

33.

34.

35,

36.

37

38.

SR

Thﬂ Grﬂﬂ.t

Eﬂﬂ"l W T
i iﬁﬂ %ﬁ (B) Lothal (C) Dholavira (D) Mohenjodarc

(A) By (B) Fh?-l'q;[g & I”;IW'(TETTW (D) HETEs)

ThE- Wﬂrdl:my et
: an- literally means 1
(A) of rich family (g, U%;‘;ﬁf?;ﬂm. () of high birth (D) None of these

b mjmﬂm:w- D,
A) i afara (p) ﬁ%ﬁqﬂﬁmm{ﬂi s F (D) FHAPRT

ce ?

w i ) - " 5 1
hich dealg With the procedure for the performance s ajurveda

Y Atharvaveda (3 i C) VinayaPitaka(D) Y
0 S s S g (O Ve .
(A) e (B) itz (C) Prafes (D) TR

The northern capital of ‘ Avanti’ was

(A) Ujjain (B) Mahishmati (C) Rajpur (D) Mathura
‘e I TR ft 5
(A) ¥ (B) wfesrdi (C) TG (D) wYa

The second Jaina council took place at which place ? .
(A) Pataliputra (B) Vaishali  (C) Vallabhi (D) Rajgriha
fore TR W fedta 37 wfifa st gs 2

(A) wefrgs  (B) et (C) =i (D) TR

Which ruler assumed the title Vatapikonda ?

(A) Narashimhavarman I (B) Pulakesin II 0
(C) Amogvarsha (D) Krishna I11 |
£a IITE A aTaTiieRiET 39T 9T 6 ?

(A) TEEER]  (B) FTHREIL (C) smima (D) T 11

The founder of the Lodhi dynasty was

(A) Ibrahim Lﬂdhi (B) Sikandar Lodhi
(C) Bahlol Lodhi . (D) None of these
=irefi g9 <1 FEITH

Painting reached to its zenith during the reign of which Mughal emperor ?

ab (B) Humayun (C) Akb |
E’;& e saTE & W < i . (D) Jahangir
(A) W ® TR © () i

i T
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hich Mughal emperor abolished “Jaziya- 7
Wwhic =

9, . Jahangir (C) Shah;
e ;}g’*“r -3 .aﬁm{? ;Hmﬁﬁm ? - tafian
ﬁ?ﬁﬁt (B) IR (C) e
hich year, battle of Chausa took place ?
“ %gﬂéﬁﬁﬁﬁmf C) 1536
(A) 1529 (B) 1534 (C) 1536 (D) 153
| i, : ast India Company was at
The capital of the French East In
41. A) P[fndllﬂh*f”}" (B) Goa (C) Daman (D) Diy
e S 3f0Sa FETI 1 T o
(A) Wit (B) T (C) T (D) #5
42. Which Sikh Guru established a separate seat of Gury at Dehraduﬁ 9
(A} Guru Angad (B) Guru Har Kishan |
(C) Guru Teg Bahadur (D) Guru Gobind Sing}, .
wﬁ@ﬁwm#mﬁamm%ﬁﬁqm
(A) T (B) TRBH (C) 1% 4 warey (D) T i iy
43. Arya Samaj was founded by
(A) Dayanand Saraswati (B) Swami Vivekanand
(C) Ramkrishna Paramhans (D) Raja Rammohan Roy
HTY TETS & HET 9
(A) TIH= =l (B) =l fadsE= (C) TS THEE (D) 111 T
44.  In which year Mahatma Gandhi launched the Nop Coo '
A - tion Movement”
Wrﬂtﬁﬁﬂwmeﬁgﬁm b =
(A) 1920 (B) 1925 &Hﬁﬂﬁ%ﬁ?
- (C) 1930 (D) 1942
45.  Which sessi : -
Chandrseﬂsg;;n?ﬂf Indian Nationa] Congress was presided over by Subhash
(A) Haripura, 1938 b
(C) Both (A) and (p) Egi Eﬂhpun, 1939
E[uma:gﬁge,w > ahore, 193]
(A) &gy, 1938 (BJT@;H-& Igi%ﬂ"ﬂ?{‘ﬁ_HWWﬁﬁ?
4. M. Gopal Kyighy | i aﬁr(‘“‘m’m(ﬁ)(ﬂ} FTENR, 1931
(A) Sitar anassﬂf‘:mtﬁ'd 10 which m :
T, Ty s oV i0lin ustcal instrument 7
(A) frm TR A %I&b*ﬂ (D) Flute
mﬁﬁ -—h-_.EE] (C) Fﬁ]ﬁr Mt o
IﬂISeﬁas..ﬁ S e (D) a—@

T
e —



47.

48.

49.

50.

.

5.

53.

34.

55.

“Kathaputli® js g folk dance of which Indian state 7

(A) P un_;al_-. (B) :
Haryana  (C) U.P. (D) Bihar

FOIT T Ml T w0 o g 27

(A) Tamrg (B) =fmmon (C) I Ve (D) Teram

Which is the innermost planet ?

(A) Mercury (B) Venus (C) Earth (D) Mars

H Aqtog oz 2 9

(A) 34 (B) Y& (C) gt (D) T

The Earth is dmded into how many longitudinal zones ?

Tt e 2oty o o ferfa 2 7

(A) 12 (B) 18 (C) 24 (D) 36

“Caucasus’ mountain range is located in which continent ? %ﬁ

(A) Australia (B) Europe :

( North America %D] Asia

' el #ger ferm TaE § fem

(A) RRm (B) Tom (C) vl iR (D) o

The outer part of which atmospheric layer is called magnetosphere ?

%ﬂm Tropos hcrf: (H] Stratm here (C) Mesosphere (D) Exosphere
FHEAAT & 7

(A) @ﬂ‘f@ﬁlﬂ? [B) @z“mﬁm{ (C) HERFET (D) THEERRR

Which is the largest river (volume wise) in the world ?

gﬁmle (B) Amazon (C) Yangtze (D) Huang Ho
#1 T8 T 7 (AT FIER) FAH B |
(A) e (B) FHSH (C) AT (D) &M@
Which of the fullﬂwing is the leading producer of petroleum in the world ?
%@; Russia Saudi Arabia (C % ) Iran (D) U.S.A.

T qad mfw INEH AN HFH B 7
(A) Torm (B) WS@lamE  (C) §H (D) ATAT,

Kolkata is lti:::ated ?gm}ng éhﬂhbanks of T{i‘hﬁch river ? Bt
(A) Hooghly rahmaputra Ganga (D) Mandavi
781 % Fen 1 & 7

(A) g (B) FEE  (C) Tm (D) e

Which of the following is a fibre crop ?

(A) Coffee %E] Ginger (C) Groundnut (D) Cotton
d [N FEE ?

(A) (B) ¥  (C) qmeft (D) %9

——
1, e g
e e R | —— — T ——
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56.

&

58.

59,

60.

61.

62.

63.

Which Article of Indian Constitution deals with Constitutional E“‘Ergﬁnu}- :
(A) Article 352 (B) Article 356 (C) Article 360 (D) Article 368
ST ETEHT 1 B F=e TR HATIAHI & Helferd & 2

(A) =8¢ 352 (B) s=9e 356 (C) Ag=8E 360 (D) 3T=ag 368

Right to Property is a/an

(A) Fundamental right (B) Political right

(C) Economic right (D) None of these
e &1 AT & Th

(A) THiferh It (B) TSl ATUHR
(C) e AN (D) T ¥ HI3 A
Total number of Lok Sabha seats from Lakshadweep is
Serd 2 S A i g Hel 6 HE B

(A) 1 (B) 2 (€ 3 (D) 4
Which is the longest session of Parliament %

(A) Winter session (B) Budget session
(C) Monsoon session (D) None of these
Hoe ] HEY o 5 HHA a8 ?

(A) 3fa & (B) #=1C & (C) FgF & (D) FHHUSE T

National Development Council is headed by which of the following ?
(A) Prime Minister (B) Finance Minister

(C) H.R.D. Minister (D) President

2t B R T T g A STeEEd H 8 2

(A) wamEt  (B) o () muf & (D) ugufa

NABARD was setup in which year 7

SraTe & e e v g 2

(A) 1982 (B) 1985 (C) 1988 (D) 1992

Durgapur Iron amld {Steel Plant is located in which Indian State ?

(A) West Bengal (B) Jharkhand (C) Bih DY Sikk;

W%mmﬁwmmﬁ%%%? (D) Sikkim
(A) UffER e (B) SR@YS (C) faEr (D) fafes

The Headquarters of R.B.1. is at

(A) NewDelhi (B) Chennai |
aﬁﬂﬁmﬁwwf@ﬁgﬂa 1 (C) Bengaluru (D) Mumbai

. Code No. : C-662/2020/Series-A 10 LU



64.

65.

66.

67.

68.

69.

Which is the regulatory authority of Insurance sector ?

(A} RBI (B) SEBI (C) IRDAI (D) None of these
&1 89 1 s s e s e ?

(A) AT, 378, (B) ®sl

(C) T 3R & w3 (D) 78 F78TE

Special Drawing Rights are also called
(A) Green Gold (B) Liquid Gold (C)
fafre stmewor s 78 off seem £

(A) #H e

The main use of salt in the diet is to

(B) fafeeriee (C) YW 7TES

Paper Gold (D) None of these

(D) 598 9| Is T8

(A) Increase the solubility of the food particles in water.

(B) Produce in small amounts of the
digestion of food.

(C) Ease the process of cooking.

(D) Make the taste of the food better.

VTS § T i g&F 394 2

(A) &1 H S5 = o1 i

hydrochloric acid required for

&

W] Gg = 1]

(B) S =1 TR % e saves engeeiie T @l B18 Hh 300 i & i

(C) e == = Tafr amam =t = e
(D) Wi =1 T =1 FT o (o1l

Which vitamin is obtained from sun rays ?

(A) VitaminB (B) ViaminC (C)
w2l 1 fERTu & S & fefi 3TH g1 e 7
(A) s B (B) @A C  (©)

The respiratory rate of just born baby is
(A) 18 times/minute (B)
(C) 28 times/minute (D)
T frey <) v B 8

(A) 189R/fMe (B) 229R/fR (C)

Hypoglycemia refers to :
(A) High salt concentration in blood (B)

(C) High blood pressure (D)
(A) T H 3= o999 H5a1 8 (B)
(C) IATHEEH (D)

Vitamin D

fgafim D

(D) Vitamin K
(D) fareTii K

22 times/minute
32 times/minute

28 9 /e (D) 32 W/ fe

High blood sugar level
Low sugar level in blood

I T TR THH
T | e gt s A

pr———

11
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70.
(A) Vertebral column (D) Rib cage
(C) Arm ] = -
mﬁﬁﬂﬂ‘ﬁﬁﬁfﬁﬁfﬁﬁ% v o (D) qaferal 8
(A) FEced  (B) WH A ) TS
71. Which disease is caused due o d:'T'I'.JIL‘J'IE,"I' of Iron i (D) Rickets
(A) Beriber (B) Kwashiorkor (L) Anaemid
AT F FH R T UTET & ? fria
(A) == (B) whRmEmER (C) I (D)
72. In arefrigerator what produces cooling ?
(A) The ice which deposits on the freezer.
(B) The sudden expansion of a compressed gas.
(C) The evaporation of a volatile liquid.
(1)) None of these
(A) S ot 5 % (B) wehfed e 3 st faredm & Hm
(C) aTISie T & aTsdieesi & SO (D) 398 § IS &l
73.  The primary colours in photography are |
(A) Red, Blue, Yellow (B) Red, Yellow, Green
(C) Red, Blue, Green (D) Blue, Yellow, Green
Sl T grerfie o &
(A) e, e, den (B) e, dten, g0
(C) e, e, &1 (D) e, drem, gu
74, ;l":L hs:a:;;l" shaving brush clings together when removed from water due to
) ace tension (B) Viscosity
{E‘E Elasticity i (D) Friction
et 5791 i 7 9t & gt e Ferer 2, o 399 w6 Rew T e e # 7
(A) 87 (B) 93T (C) YORYT (D) ey
it I‘h:;fclillg.ti of the following sources has the largest share in power generation in
(A) Atomic power (B) Thermal power
(C) Hydro power (D) Wind power
Wﬂﬁrﬁﬁmmﬁﬁﬂﬁﬁraﬁrﬁﬁlﬁmﬂaﬁa@ IR 9
(A) TRHTY 91 (B) 1 wifes
B | e (D) 7
Code No. ; C-662/2020/Series-A T T — e
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In human body, the longe (B) Thigh



6. Washing_mda 18 chemically call 3
1 (A) Sodwum carbonate s ke

odi : (B) Sodium chloride
(C) Sﬂ um hydroxide (D) Potassium nitrate
o34 G181 F1 THER 9 2

(A) HIETT Faite (B) wifsam Feinss
(C) HETH TRgaTse (D) Wferm arg

T %icilmﬂ_ﬂl is found in free state in nature ?
(A) Aluminium (B) Gold (C) Tron (DY Lead
@14 1 9Tq Wi H g v # ar e £ 7 =
(A) TEEER (B) vl (C) FEE (D) &=

78. The ratio of pure gold in 18 carat gold is
18 H2 e | I @Yl H1 39T 2

(A) 60% (B) 75% (C) 80% (D) 100%
19, (Carcinogenic chemicals cause

(A) Heart diseases (B) Diabetes ﬁ

C) Cancer (D) Asthma

THIA & HH0 &ld1 &

(A) &I (B) WYHE (C) % (D) 3o
80. Which is used as raw material for the manufacture of rayon ?

(A) Coal (B) Petroleum (C) Cellulose (D) Plastic

W 59 % fore 1 € St g = 59 TR g 2
(A) e (B) Uziferam (C) Teges (D) et

Bl. Total Geographical area of H.P. is
Temrarer wew =1 ot Hiifers & 2
(A) 50673 km2 (B) 53673km? (C) 55673km? (D) 58673 km?

82. Population density (per sq. km) of H.P. as per census 2011 is

SHITOMT 201 1 % FTER TRATEE T69 1 Feed e (ufa & fw) 8
(A) 109 (B) 116 (C) 121 (D) 123

Which district has highest number of electors in H.P. ?

‘(_ﬂ] Kangra (B) Mandi (C) Hamirpur (D) Shimla
9 1 HeeTaI ] 1 Tfuehan He feg fe 5 2 0

(A) =g (B) @vEl (C) e (D) freen

Mﬁﬂ_ikaran hot water spring is located in which district of H.P. ?
@) Sirmour % Solan (C) Bilaspur (D) Kullu

15w 3 o Foret ARG T R 1 e FRr B 9
~Whkwk @ & 2 (© femr @O F____
13
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‘ 85.

86.

87.

88.

89.

90.

91.

92.

z W g t _— DI"H.P_‘?
ocated i which district (D) Lahaul-Spit;

"hz 5 valley is |

f,-:ﬂ{jjlnlﬁft;r}é:j : (B), Chamba (C) Una

Perere? w291 o o et B ==y a1dt R @ 9 D :
(A) TUE (B) = (C) T (D) wTErer-efify
'he Lady of Keylong 1s a/an ; g
(A) Folksong (B) Folkdance (C) Glacier (D) Kaiver
‘= ot A% FAT B UK |

(A) d®fE (B) dFIE () Wi (D) T
Sanskrit name of river Beas is | _
(A), Arjikiya, (B} Vipasa _ (C) Askini ___ (D) Iravati
oITH TELH Heht A g || O

(A) A (B) T '{é) BT (D) st

Unam-So lake is located in which district of H P ?

A) Kinnaur B) Lahaul-Spiti (C) Hami (D) Kullu
%ﬂﬁ?m%ﬁﬁ q ‘a;ig-a{l’lslﬁé{gﬁm%lglmm
(A) forat (B) @mEld-#fifa (C) wftem (D) %

The old name of Kalpa is

(A} Chinni (B) Baned (C) Deorha (D) Dhameri
Fed 1 T 1 2

(A) f=ft (B) ¥iq (C) <aw@ (D) uH
Who was popularly known as ‘Maharishi’ ?

gﬂi‘.} Baba Kanshi Ram §B} Hari Singh

C) ‘Eha_uu Mal D) Nicholas Roerich

FH nﬁm&’w%mm?
(A) s Feitm (B) =wdifds (C) wemer (D) ey O

Sirmour princely state was founded by

(A) Rajendra Prakash B
C) Purab Chand ED% ﬁg}?ﬁﬁ?kash
RIEn 1Y ] AU 0

(A) TEIFA (B) TWIEW (C) wawm (D) T ey

Barnes’ Court is the official residence of which of the f; i

ol 9
(A} Governor of HP, (B) ChiefMinEsteln;;‘tn P
(§) Chief Justice of H.P. High Court (D) None of these

H 8 {1 et fammem 2 7

TAH
(A) fewm=er vew & madt

(B) fewr=e wew & qegwsh

(C) feqr=m wew 3= <Ay # 1 .
(D) st 32t N

Code No. : C-662/2020/Series-A
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ictoria brid : :
P F;; Gg;hurgfne Gv?ﬂ?ﬂaﬁ river in Mandi was built by which ruler 7
- Ajbar Sen  (C) GarurSen (D) Vij:
vl § =T n _ (C) Garursen (D) Vijay Se
% a@qw$3“{ fors o wTa 3 SAEE o1 2 ¢’
i (B)  srwrawaA (C) TEEA (D) Tsgim

0. Eﬁml firing tragedy took place in which year ?

: B 7
(A) 193 (B) 1942 (C) 1945 (D) 1947
g5, H.P.Board of School Education was established in which year ?
fewrere rew e fvan wee = oty g 2
(A) 1948 (B) 1951 (C) 1963 (D) 1969
96. Mahatma Gandbhi visited Shimla how many times ?
T e} Tt s e M 9 ¢
O e aVa’e el o) ()-8,
' 97, The first rCﬁif:‘f Justice of H.P. High 'Ci‘ciﬂft was '
(A) Eust!-:e M.H. Beg (B) Justice R.S. Pathak %
C) Justice M.N. Rao (D) Justice V. Ratnam |
ToN1 I AT % WaH g A FE Y 7
(A) =arndie ue.ug, 5 (B) =amandier 77, Td. T8
(C) =iy vq. v, U9 (D) =FrErdis . TH

98, Which is the smallest wildlife sanctuary in H.P. 7

A) Renuka (%aﬂandlj (C) Sainj (D) Shilli
%ﬂqﬁﬁﬁﬂﬂﬂﬁﬁ ISt AVIRT
(A) TR (B) e (C) & (D) fareft

99, Which is the executing agency of Parbati-III hydroelectric roject ?
uﬁ?ﬁ-mﬁa-ﬁgﬁﬁ%ﬂamﬁmﬁ?ﬁ@ﬁgﬁﬁaﬁqm ?
(A) BBMB (B) SIVNL  (C) NHPC (D) NTPC

100. CPRI is located at which place in H.P. ?

A) Kasauli (B) Kufri (C) Palampur (D) Jogindernagar
%srrﬁﬁu'&wﬁm@mm CPRI & & ?

(A) HETe! (B) FHI (C) ITETHR (D) SR

101. ‘Pahari Chitra Kala’ book is written by
(A) Kishori Lal Vaidya (B) L.C.Pandey

(C) Ram Rahul (D) 0O.C. Handa
: = CCIRIER
(fﬁgaﬁﬂ@a g (B) T Hl. qved g

(D) 3.H1. goergm

(C) 1| Tga gl - e
— e 15 Code No. : C—&ﬁmﬂzms""‘?’*
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102.

103.

104.

105,

106.

107.

108.

‘Jatru Kayang’ is a folk dance performed by the people of which district of

HEP. ?
(A) Lahaul-Spiti (B) Kinnaur (C}) Kullu (D) Mandi

feemrerer rawn o fober Toret 3 A1l grr e i’ e e okt Tl @ 7
(A) wEE-Eife (B) fk (C) Fvd (D) WISl

Mahunag fair is celebrated at which place in HP. ?
A) Rewalsar ~ (B) Naggar  (C) Nirmand (D) Karsog

(A) T (B) (C) Frovs (D)
Tiieﬂwar i temple is located at which place in H.P. ?

( angra (B) Una C) Bilaspur (D) Hamirpur
%Wﬁﬂ%%awmmmﬁw&iﬁmé? i

(A) Tl (B) FA7 (C) femEq (D) TE

What is ‘Kee’ in H.P. ?

(A) H?;asg%n% r%%?vﬂ (C) Glaci;r (D) Monastery
(A) T | (B) & (C) femme (D) W3

Which letter is just in the middle of G and S in the following alphabet ?
frferfian STt & =1 w1 378 G 3 S % wHzr A i 2
ABCDEFGHIIKLMNU’PQRSTUVWK":’Z

(A) M (B) N () L (D) Q

If two letters in the word ‘PRISON’ are such which have as many letters
between them in the word as in the alphabet, then they are said to four pair-
letters. How many pairs letters are there in the word ‘PRISON® 7

(A) one (B) two (C) three (D) 'y
oy $4 50 e sl Tt

A &, R AH - A& hEl AT | ¢ ;

e Fe 7 IR FRISCN 308 o
(A) T (B) @ (©) (D) #52 ah

If the first and sixth letters of the word "OCCUPATION® R
also second and seventh letiers and so on, then whi‘f}}]”wgr?dmtcmhanged,
letter from the right ? uld be the sixth
gfe 3156 ‘OCCUPATION’ %1 98ell 3 Daat st 4 v

2 3i 39 AT GO F HI W, T TR B I Ty fﬁ;gﬁaﬁﬁmm
3T 9% FIE J1EM 7 TS ST R, e e @
(A) T (B) O (C) 1 D) N
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109.

110.

111.

112.

114,

Which is different fr
i i x - = T.I: [ st}
T8 d F1F o1 Sy ﬂﬁﬁq%gﬂmt'

| ' (€) 15 (I
n a certain : : : 17
v Euﬂ;ﬁde. dom pul ta’ means ‘eat hot food’. Pul 8ir gne
; . 7 oD g
b ol “and *tok da sop’ means ‘good intelligent boy' then . cans
Hie 10°0WiIng is used for *hot’ 7 L R of

= ' H “dom pul ta’ = 3"['55 *eat hot food’, ‘pul s Sop’ &

‘food is good” 3yt : g 5
\ = tok da sop’ &7 7Y ‘good intelligent boy', 78 =it 71
ﬂ?ﬁﬂnﬂmmﬂnﬁmw%? = 5 - TR

(A) dom (B) ]1|_|J
(C) ta (D) Data inadequate. / STe1 37aig & |

How many 6’s are in the following number series which are followed by an
ﬂﬁddﬁ“uﬁmhﬂ, and Drecededg a prime number ?

T o & Ee 8, U fraa 6 2 Rees 08 fawm 5@ 3 sm amarsy
HER

364576354364564163963456 o
(A) 1 (B) 2 (C) 3 (D) 4

Gaytri remembers that the birthday of her sister falls after 5" January but
before 9™ January, while her father remembers that Anuradha’s birthday
falls before 10" January and after 6™ January. On what date in January does
the birthday of Anuradha fall ?

(A) 60 (B) 10® (C) 5% (D) None of these
Tl 1 F1E & o 3mehT gad 1 w=fed S St & g wifed 9 sHeEt & TEe
7T 2, Fafeh 39 fuar #1 3g 2 6 sgma &1 s=fes 10 Sl % 9gs 390 6
FAatl & sTe a1 2 | At § fRT ari@ st 3 1 Sl 7 8 2

(A) 6 (B) 10 ©€) s (D) ¥ 8 &1 7E

. Rajnish started to move in the East and turned to his right after walking

35 m and then walked 20 m. Again he turned to his right and walked 35 m.
In the end he walked 20 m after turning to his left and reached to his
destination. How far is he from his starting point ?

(A) 20m (B) 30m (C) 40m [2%{50|n

T 3 g 61 e T A S35 . et gt s gen ik 20 .

Tl | ARUET 8 I ST B8 3 qgRt 35 Wi wen | ar # 7w W AN
= 3 w1 20 HY. Serl I 3T TAeH AT T IR A1 | TR 39 wmefvirn faeg @

(AR
(A) 20 (B) 30H. (C) 40, (D) 50+
If ‘+> means ‘x'; ‘=’ means ‘+’; "X’ means ‘-’ and ‘+’ means ‘+' then
e o g1 39 x0T Y T o e S A o, T
448252 +4=7
(A) 0 B) 2 (C) 4 (D) 6

R T ——— e e S eSS
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115.

116.

117.

118.

119.

120.

———

What will come in place of question mark ?

gyared s & T T = SR 2

5X9, 8U12, 11R15, 14018, i

(A) 17M21 (B) 16L21 (C) 17L20 () 17121

[f “Raman is a soldier, All soldiers are tall” is taken for granted, which of
the following conclusions is logical ?

(A) All tall (men) are soldiers. (B) Raman is not tall.

(C) Tall men are not soldiers, (D) Raman 1s tall.

8 A3 8, W 8 e foray e 2, 0 i @ e e
(A) &t e (3.) @fim 8 | (B) T o eI 2 |

(C) e 759 #fyep 78 3 | (D) T T |

Prakash js laller than Gita, Amar is taller than Prabhat, but not than Gita.
Prabodh 1s taller than Prakash. Who is the shortest 7

(A) Prakash (B) Gita (C) Amar (D) Prabhat

TR, A B e 2 |%am, ST H A 2, e i @ T | vy, s A

(A) Sehrar (B) e (C) 7 (D) wHE

Rajesh is 10" from one end in a line of students and 9™ f; th

;mﬂat is the total number of students in the class ? Hivibe ailend
| 1 ifeh 7 T uh i & e i em o @

e Rt B 7 ?{fﬁ H%lmmﬁﬁmﬁzﬁ}

What is the name of the platiorm recently launched by th ini

for higher educational institutions 9 TR M,
m@aﬁmww%?ﬁmﬁmﬂﬁsﬁ%mﬁﬁmm .

e fRgr 2 2 whm
(4) DHRUV 2.0 (B) YUKTI2.0 (C) SHAKTI20 (D) Bx14 5 0

Which Indian state recently became the first o operati : :
converted into isolation units for COVID-19 ? perationalize rail coaches
g‘% U.P].Ei (B) M.P. 0 (C%F?rihﬂr (D) Kerala

EIST YA 1 98 JH T4 S 591 f6 COVID- 19 3
TS qfe 8 et f o =2V IR fore Yo it oy
(A) STH¥T  (B) "Wy  (C) FEw D) e

——
.

—
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121. Vidyaben Shah, who passed away recently, was associated with whiep, fielg o
(A) Politics (B) Social work (C) _Sports (D) Literatyre
feraer IR, TS 7 @ & fige gan, 95 i & &0 8 TG R ¢
A) TSR (B) smtmwdu(C) @7 d (D) wfigy

122. Which country is the largest holder of U.S. Government Securities gy the end
of April 2020 ? n

(A) China (B) Japan (C) India (D) Australia

3181 2020 % I T 7, TH. FUHR Svfoa 1 HE TS1 TR 1 8

(A) =9 (B) waH (C) WA (D) s=ferm
123. What is ‘NavRakshak’ that was seen in news recently ?

(A) Light combat aircraft (B) Fighter jet

(C) Personal protective equipment (D) COVID-19 Drug

It BTe 3 TR S N S T e R 7

(A) Fo=h! 62Tk 19 (B) HTEE ﬁ

(C) =TT HI& ST (D) Hifge-19 F

124. Which country is named the President of the UN Security Council for
August 2021 7

(A) USA. (B) China (C) Norway (D) India
amg 2021 ¥ form Haeh Ty g aRSE % 3eEe % dr T e <u = it e
T™E ?
(A) 3@8Y.  (B) HH (C) e (D) W@
125. Which has recently acquired the Swedish mapping technology company
‘Mapillary” ?
(A) Facebook (B) Amazon (C) Apple (D) Google
27 21 3, 3 & fopme wifew Aftin asieh! ot At uTH i 2
(A) HHEH (B) 3HHSH (C) T=e (D) T

126. Who has recently become the first Indian to participate in the $ 1,50,000
Chessable Masters tournament 7
(A) B. Adhiban (B) P. Harikrishna
(C) Praggnanandhaa _ (D) Sasi Kiran
= A, § 1,50,000 FHEE N ZAR 1 9 o =T §uH S e w6
(A) . s (B) @.Efgwn (C) wwr (D) W€

127. What is the rank of India in the World Competitiveness Index (W.E.I.]_Eﬂ?ﬂ-? _

Fes Frffdas wead (W.C.1,) 2020 T SRd &1 1 81 =H 8 7 .
(A) 40 (B) 43 (C) 46 (D) 51

- = T Code No. ; C-6e3/2020/Series-A

e —




128.

129.

130.

_ ard at COVID-19
= | il jury un“j!'d a e
‘Martyapura Re Jamaraj’ that won a special jury hich language °
hl?[iﬂr:;;ﬂ:m Firm Festival 2020, is a short ?if_l”d'_“adf o 1':[ J]}L Kannads
e ' C} 11ndl 't 1#1.
(A) Marathi (B) Odia ( : ELNE
COVID-19 wxz;:nﬁm HEreds 2020 ¥ T oy e, FAT
ferei <t T faren, o feg W & a1 2 7 e
(A) HU3 (B) 3=k (C) fa=

Account’ for
Which payment bank recently launched ‘Suraksha Salary

workforce of MSMEs ? 1 el
(A) Airtel Payments Bank (B) Jio Payments

: Bank
(C) India Post Payments Bank (D) PayTM Payments ,
MSME ¥ 3wt % forg ant arer 299 @ 9= 3 3 “FraT Hertt uHee”

TEHTA HT 2 7 _
(A) TRE Tz ds (B) i YaieH
(©) ¥ ez e 4 (D) A-Zfem Yireeg

India recently signed an MoU with which country to construct ¥ 2.33 crore
sanitation facility in their iconic temple 7 e

(A) Sri Lanka (B} Myanmar (C) Bhutan (D) Nepa .
3t g o W#%ﬁéﬂ%wmmaﬁﬁaﬂrﬁtﬂ? 2.33 =g 4
ﬁﬁmgﬁm%ﬁﬁmaﬂﬁ%mwmmﬁam% ?

(A) i (B) =i (C) W™ (D) e

Directions (Q. 131 to 135) : Choose the most dppropriate option out of the four
given alternatives A B, Cand D 1o fill in the blank.

131.

132,

133.

134,

His father was forty five when he

(A) has died (B) had died (C) died (D) was dying
Do not quarrel your neighbouyrs,

(A) from (B) by (C) with (D) against
Because of his rude behaviour, nobody can get with him_

(A) across (B) along (C) about (D) over

The sun is shining brightly, please the light,
(A) put on (B) putoff (€) put out (D) take off

135, 1 shall not come You need me.

(A) ifnot (B) without (C) except

= '_-—-—-ﬂ—-—._._"____‘
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Directions (Q. 136 to 14q) . :
alternatives A, B, C and I?} : Choose the correctly spelt word out of the o, Biven

136. (A)

[‘nsti::hUShiﬂn[B} Institution  (C) Institushion (D) Instichutigy

13T- {A} f!'i-]-ﬁ'!l.'_!'l.l {B} Aldoh fC] A]thgugh {Dj f"'althugh

138. (A) Realisation (B) Relisation (C) Rilisation (D) Realisashion
139, (A} Diferentiate (B) Diferenshiate(C) Differenchiate(D) Diffcrentiate
140. (A} Accommodation (B) Acomodation

(C) Akomodation (D) Acomodashion

Directions (Q. 141 to 145) : Choose the word out of the four alternatives A, B, C
& D which is opposite in meaning to the given word.

141. Parallel
(A) Divergent (B) Curved (C) Random (D) Wavy

142. Morbid |
(A) Healthy (B) Clever (C) Upright (D) Sickly

143. Harmony _
(A) Hatred (B) Friction (C) Discord (D) Enmity
144. Illegible
(A) Clear (B) Imitable (C) Clean (D) Readable
145, Exodus

(A) Restoration (B) Return (C) Home-coming(D) Influx

Directions (Q. 146 to 150) : Choose the most suitable “one word” out of the four
alternatives A, B, C and D which can be substituted for the given

words/expressions.

146. Custom of having many Wives
(A) Monogamy (B) Bigamy (C) Polygamy (D) Matrimony

147. A disease which Spl'e&dﬁ by contact
(A) Infectious (B) Contagious (C) Contiguous (D) Contextual
21 '

——
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p (9. 161 8 165) ‘ﬁﬁmmaﬁq

161. 35S

(Ay S ) e
162. m

(A) P (B) dreFq
163. e '

(A) (B) Twy
164. Tu= |

(A) HYdl (B) feny
165. &

(A) T (B) e
166, ‘W=’ 1 Hiy-fa=sg &

(A) HI+39  (B) ¥+amd
167. YT H HHTE B

(A) §28 (B) HgdvE
168, 90 =7 TS 8

(A) Wt (B) HWWH
169, sy # goe &

(A) dt (B) 3
170, *ﬁ%mm’.ﬁﬁiﬁﬂﬁ%

(A) i % R sIferE &

(B) ¥R fem =1 g@

(C) T § a1ftrs =3F FHT

(D) fammyr % wramor

B T

(D) 37=fe

(D) =M

(D) H&d

(D) g

(D) fa=ed

(D) 94+ HAF9

(D) wgffe

(D) HRAaTH

(D) 3
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